***n: APEX DYNAMICS KOREA INC.

AF/AFR Series

e Planetary Gearboxes
* High Precision
e High Speed

High Precision .
Planetary Gearboxes

"ONI VZHOM SOINVYNAQ X3dY

(%]
oo



Series

9|2{S AFO|= <14/<16mm(AF060-1CHa} EQ)

Gearbox Performance 2 E AFO|= <19/<24mm
Model No.
3 20 55 o 130 - 208 | 342 | 588 | 1,140
4 19 50 - 140 - 290 | 542 | 1,050 | 1,700
5 22 60 - 160 = 330 | 650 | 1,200 | 2,000
1 6 20 55 - 150 - 310 | 600 | 1,100 | 1,900
7 19 50 - 140 = 300 | 550 | 1,100 | 1,800
8 17 45 - 120 - 260 | 500 | 1,000 | 1,600
9 14 40 - 100 . 230 | 450 | 900 | 1,500

10 14 40 - - 230 | 450 900 | 1,500
15 20 55) 55 130 130 208 342 588 | 1,140
20 19 50 50 140 140 290 | 542 | 1,050 | 1,700
Nominal Output Torque Tay Nm 25 22 60 60 160 160 330 650 | 1,200 | 2,000
30 20 58] 55 150 150 310 | 600 | 1,100 | 1,900
35 19 50 50 140 140 300 550 | 1,100 | 1,800
40 17 45 45 120 120 260 | 500 | 1,000 | 1,600
2 45 14 40 40 100 100 230 | 450 900 | 1,500
50 22 60 60 160 160 330 | 650 | 1,200 | 2,000
60 20 55) 55 150 150 310 | 600 | 1,100 | 1,900
70 19 50 50 140 140 300 | 550 | 1,100 | 1,800
80 17 45 45 120 120 260 500 | 1,000 | 1,600
90 14 40 40 100 100 230 | 450 900 | 1,500
100 14 40 40 100 100 230 | 450 900 | 1,500

Emergency Stop Torque Toyor’ Nm 1,2 [ 3~100 3 times of nominal output torque
Nominal Input Speed niy rpm 1,2 | 3~100 | 5,000 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
Max. Input Speed nsg rpm 1,2 | 3~100 [10,000 | 10,000 | 10,000| 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 4,000
. 6 ; 1 3~10 - - - <1 - <1 <1 <1 <1
Micro Backlash PO arcmin 2 [15-100] - . - - . <3 <3 <3 =3
; 1 3~10 | <3 <3 - <3 - <3 <3 <3 <3
Reduced Backlash P aremin_ 5 15~100] <5 | <5 | <5 | <5 | <5 | <5 | <5 | <5 | <5
; 1 3~10 | <5 <5 - <5 - <5 <5 <5 <5
Standard Backlash P2 arcmin 2 [15-100] <7 <7 <7 <7 <7 <7 <7 <7 <7
Torsional Rigidity Nm/arcmin| 1,2 | 3~100 8 7 7 14 14 25 50 145 225
Max. Radial Load Fars? N 1,2 [3~100 | 610 | 1,400 | 1,400 | 4,100 | 4,100 | 9,200 | 14,000 | 18,000 | 33,000
Max. Axial Load Fas? N 1,2 [3~100 | 320 | 1,100 | 1,100 | 3,700 | 3,700 | 5,820 | 11,400 | 19,500 | 16,300
Service Life hr 1,2 | 3~100 30,000° >
- 1 3~10 = 97% T
Effciency » % [2 15-100 = ot% s>
Weight kg 1 3~10 | 0.6 1.3 - 3.7 - 6.9 13.7 28 48 EJ
2 [15~100| 0.8 1.5 2 4.1 5.3 8.1 16.6 88 60
Operating Temp® T 1,2 | 3~100 -10C~+90°C
Lubrication 1,2 | 3~100 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 IP65 (Option 1P67)
Mounting Position 1.2 all directions

Noise Level(n;=3000 rpm,No Load) dB(A) | 1,2 [3~100 | <56 | <58 | <60 | <60 | <63 ] <63] <65 <67 | <70

Gearbox Inertia
Model No. Stage | AF042 | AF060 | AFOG0A| AFO75 |AFO75A| AF100 | AF140 | AF180 | AF220

3 0.03 | 0.16 - 0.61 - 325 | 9.21 | 28.98 | 69.61
4 0.03 | 0.14 - 0.48 - 274 | 7.54 | 2367 | 54.37
5 0.03 | 0.13 - 0.47 - 2.71 742 | 2329 | 53.27
1 6 0.03 | 0.13 - 0.45 - 2.65 | 7.25 | 22.75 | 51.72
7 0.03 | 0.13 - 0.45 - 2.62 | 714 | 2248 | 50.97
8 0.03 | 0.13 - 0.44 - 258 | 7.07 | 22.59 | 50.84
9 0.03 | 0.13 - 0.44 - 2.57 | 7.04 | 22.53 | 50.63
10 0.03 | 0.13 - 0.44 - 257 | 7.03 | 22.51 | 50.56
15 0.03 | 003 | 013 | 013 | 047 | 047 | 2.71 | 742 | 23.29
20 0.03 | 0.03 | 013 | 013 | 047 | 047 | 2.71 | 7.42 | 23.29
Mass Moments of Inertia J1 kg - cm? 25 0.03 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 23.29
30 0.03 | 003 | 0143 | 013 | 047 | 047 | 271 | 742 | 2329
35 0.03 | 003 | 013 | 013 | 047 | 047 | 2.71 | 742 | 23.29
40 0.03 | 003 | 013 | 013 | 047 | 047 | 2.71 | 742 | 23.29
2 45 0.03 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 23.29
50 0.03 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 | 22.51
60 003 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 | 22.51
70 0.03 | 0.03 | 013 | 013 | 044 | 044 | 257 | 7.03 | 22.51
80 0.03 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 | 22.51
90 0.03 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 | 22.51
100 | 0.03 | 003 | 013 | 0.13 | 044 | 044 | 257 | 7.03 | 22.51
1. Ratiofi=No/Now) 2.7|1% : 8% S0 Fot o2 SHEE 100pmolst, 2HZ A et A= HEE 4 920 Page 65 3%
3, 247| HELE 1 -10-00%, Z47| FHRE 0-40= 4 3|C§7HSE 3 Tog = 60% of Tavor

5, Service life 15,000hrs (S1: A& 2MZE) 6. AF042 1,2E+ AF060 1,2E+ AFO75 2EF POZ H|ZtotE 59



(=2
o

"ONI VZHOM SOINVYNAQ X3dY

aL9

oLt

450

Cc9

L2 L3

L8 Cc8

@D4
@D5

/ |19 L4y
D6 Lz

C6,
DIN332/2 C4
=
Shaft Option S1 Shaft Option S2
[unit:mm]
Dimension AF042 AF060 AF075 AF100 AF140 AF180 AF220
D1 50 68 85 120 165 215 250
D2 34 515 6.8 9 11 13 17
D3 13 16 22 32 40 55 75
D4 g 35 60 70 90 130 160 180
D5 22 45 60 80 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12X1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
L1 42 62 76 105 142 180 220
L2 19.5 28.5 36 58 82 82 105
L3 6.5 20 20 30 30 30 33
L4 1 1.5 2 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 7 10 12 15 20
L8 31 54.5 86.5 89.5 110 150 163.5
L9 42 60 90 115 142 180 220
L10 10 12.5 19 28 36 42 42
C1* 46 70 100 130 165 215 235
c2* M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/L12 <14/<16° <19/ <24 <32 <38 <48 <55
C4* 25 34 40 50 60 85 116
Cc5¢ 30 50 80 110 130 180 200
Cc6* BI5) 8 4 5 6 6 6
Cr* 42 60 90 115 142 190 220
Cc8* 29.5 19 17 19.5 22.5 29 63
C9* 86.5 122 159.5 197 2445 291 364.5
c10* 8.75 13.5 10.75 13 15 20.75 53
B1 no 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5

1, AF042Zt55H] 1/594 1/100] 8FA3l C3=12mmE optionalZ |3
2. AF060ZtZH| 1/62F 1/100f sHY3 C3=16mm optionalZ XS

3. AF0750{A C3=24mm optionalZ H|J, ¢t L& 2MEA

oo d

4, C1~C102 M22Eof| w2t CHELC} ShAF EE8|0|X] www.apexdynakorea,co kri2 M4t

(S1 condition)ofA= ALSA FOIE

AlE
=T

[}
Lo
Design Toolg 0183101 4.5 &o1g 4 Slgvict

o}



Cc9

oL L2 L3 L8 C8
D1 c1
= ——
o/ [0 —9 =
¥ 4 1 4‘
sl s A=Y T ****%:*:&LQ
[ =H ‘
: _LlO_ §7< =:::¢ ac1
@D2 D6 L7 ce
DIN332/2 ca
1S E D 2622 UAA0IE S
c9
L2 L3 L8 c8
C10
L5 = =
3|8 = (HA[E g
‘ ST Iy —
q A cel|
Shaft Option S1 Shaft Option S2 D8 a2 7 o
[unit:mm]
Dimension | AF042 AF060 | AFO060A | AF075 AFO075A | AF100 AF140 AF180 | AF220
D1 50 68 85 120 165 215 250
D2 34 55 6.8 9 11 13 17
D3 13 16 22 32 40 55 75 g
D4 g 35 60 70 90 130 160 180 5>
D5 22 45 60 80 75 95 115 =
D6 M4 X 0.7P M5 X 0.8P M8 X1.25P M12X1.75P | M16 X 2P | M20 X 2.5P | M20 X 2.5P
L1 42 62 76 105 142 180 220
L2 19.5 285 36 58 82 82 105
L3 6.5 20 20 30 30 30 33
L4 1 15 2 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 7 10 12 15 20
L8 585 655 915 119.5 1345 131 166.5 205.5 248
L9 42 60 90 115 142 180 220
L10 10 125 19 28 36 42 42
c1’ 46 46 70 70 100 100 130 165.5 215
c2’ M4 X0.7P | M4X07P | M5X0.8P | M5X0.8P | MBX1P | MBX1P | M8X1.25P | M10 X 1.5P |M12 X 1.75P
<14/ <14/
C3’ SMIS12|<11/<12 | 2] | 15875/ |<19/< 24\ <19/< 24 <32 <38 <48
= <16
c4’ 25 25 34 34 40 40 50 60 85
C5’ 30 30 50 50 80 80 110 130 180
C6’ 35 35 8 8 4 4 5 6 6
7’ 42 42 60 60 90 90 115 142 190
c8’ 29.5 29.5 19 19 17 17 19.5 225 29
o’ 114 1435 159 1945 207.5 236 298 340 415
10’ 8.75 8.75 135 135 10.75 10.75 13 15 20.75
B1 s 5 5 6 10 12 16 20
H1 15 18 245 35 43 59 79.5

1, AF042 C3=12mm& optionalZ X2
3. AFOBOA Special type
5, AFO75A Special type

7,C1~C102 MS2&{of w2t CHELICE, AL ZH|0|X| www.apexdynakorea,co krZ F&5H412 Design ToolS 0|&sto] 2|5 &olet 4

2. AF0B0 C3=12mmE optionalZ H|=

4 AF075 C3=15875 & C3=162 optional 2 HZ

6. AF100 C3=24mms optionalZ |3, Tt HE2MZZ(S1 condition) HM= AL2 A £0|E 2%
e

o
AR

&4t

61



(2]
N

"ONI VZHOM SOINVYNAQ X3dY

AFR Series

Gearbox Performance

Model No. Stage | AFR042 | AFR060 | AFR0O75 | AFR100 | AFR140 | AFR180 | AFR220
3 9 36 90 195 342 588 1,140
4 12 48 120 260 520 1,040 | 1,680
5 15 60 150 325 650 1,200 | 2,000
6 20 55 150 310 600 1,100 | 1,900
1 7 19 50 140 300 550 1,100 | 1,800
8 17 45 120 260 500 1,000 | 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
14 - 42 140 300 550 1,100 | 1,800
20 - 40 100 230 450 900 1,500
15 14 - - - - - -
20 14 - - - - - -
Nominal Output Torque Tay Nm 25 15 60 150 325 650 1,200 2,000
30 20 55 150 310 600 1,100 | 1,900
35 19 50 140 300 550 1,100 | 1,800
40 17 45 120 260 500 1,000 | 1,600
45 14 40 100 230 450 900 1,500
50 14 60 100 230 650 1,200 | 2,000
2 60 20 55 150 310 600 1,100 | 1,900
70 19 50 140 300 550 1,100 | 1,800
80 17 45 120 260 500 1,000 | 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
120 - - 150 310 600 1,100 | 1,900
140 - - 140 300 550 1,100 | 1,800
160 - - 120 260 550 1,000 | 1,600
180 - - 100 230 450 900 1,500
200 - - 100 230 450 900 1,500
Emergency Stop Torque Toor* Nm 1,2 3~200 3 times of Nominal Output Torque
Nominal Input Speed nyy rpm 1,2 3~200 | 5,000 5,000 4,000 4,000 3,000 3,000 | 2,000
Max. Input Speed nig rpm 1,2 3~200 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 | 4,000
Micro Backlash P0° arcmin ! £l . . =2 =2 =z = =2
2 25~200 - - <4 <4 <4 <4 <4
. 1 3~20 <4 <4 <4 <4 <4 <4 <4
Reduced Backlash P1 arcmin 2 25200 | <7 <7 <7 <7 <7 <7 <7
. 1 3~20 <6 <6 <6 <6 <6 <6 <6
Standard Backlash P2 arcmin 5 25-200 <9 <9 <9 <9 <9 <9 <9
Torsional Rigidity Nm/arcmin| 1,2 3~200 3 7 14 25 50 145 225
Max. Radial Load Fas’ N 1,2 3~200 610 1,400 4,100 9,200 | 14,000 | 18,000 | 33,000
Max. Axial Load F2as? N 1,2 3~200 320 1,100 3,700 5800 | 11,400 | 19,500 | 16,300
Service Life hr 1,2 3~200 30,000°
i~ > 0,
Efficiency n % ; 22__580 S ggé:

: 1 3~20 0.9 21 6.4 13.9 23.7 50 83
Weight k9 2 | 257200 | 1.2 15 | 78 | 151 | 267 | 54 | 95
Operating Temp® T 1,2 3~200 -10C~+90C
Lubrication 1,2 3~200 Synthetic lubrication oils (NYOGEL 792D)

Degree of Gearbox Protection 1,2 3~200 IP65 (Option IP67)
Mounting Position 1,2 3~200 all directions
Noise Level(n,=3000 rpmNo Load) ~ dB(A) | 12 | 3~200 | <61 | <63 | <65 | <68 | <70 | <72 | <74
Gearbox Inertia
Model No. Stage | AFR042 | AFR060 | AFR075 |AFR100 | AFR140 | AFR180 | AFR220
3~10 0.09 0.35 2.25 6.84 234 68.9 135.4
1 14 - 0.07 1.87 6.25 21.8 65.6 119.8
20 - 0.07 1.87 6.25 21.8 65.6 119.8
Mass Moments of Inertia J1 kg - cm? 15 0.09 - - - - - -
20 0.09 - - - - - -
2 25~100 | 0.09 0.09 0.35 2.25 6.84 234 68.9
120~200 - - 0.31 1.87 6.25 218 65.6

1. Ratio(i=Ni/Nos)
3, Z47| HELE : 10-90E, 22| FHEE 0-405
5, Senvice life 15,000hrs (S1: 4 2HZT74)

2. 7|F : 3% 10| ot A2 £HEE 100rpmo|s}, &
4, Z|tH71E3 T = 60% of Tenor
6. AFR042 1,051 AFROBO 1,26+ PO R|Rtote]

MZA0 W2} 4/ 128 4 2100 Page 65 BT



AFR

(12t 2, Z5H|(Ratio) i=3~20)
olL9 L8
oL1 L2 L3 oC7
D2 _1
¥ 6 =7 T » *ﬂ\»
(\\\ Q Q8| A ) &g )
B, S/YZ( \ . |5 o 3 ; 8 9/. ¥
H lleo’ we vl [ I £2 o
1T
L 8&332/2 = = View A
(6] 8 ©
(@]
o
(@]
L6
5
Shaft Option S1 2D3 6 Shaft Option S2
[unit:mm]
Dimension AFR042 AFR060 AFRO75 AFR100 AFR140 AFR180 AFR220
D1 50 68 85 120 165 215 250
D2 3.4 615 6.8 9 11 13 17
D3 13 16 22 32 40 55 75 g 5
D4 ¢ 85 60 70 90 130 160 180 § .,>.,
D5 22 45 60 80 75 95 115 =
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12X1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
L1 42 62 76 105 142 180 220
L2 19.5 28.5 36 58 82 82 105
L3 6.5 20 20 30 30 30 33
L4 1 15 2 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5) 5 6 7
L7 4 6 7 10 12 15 20
L8 115.5 150 219 269.5 338.5 397 484
L9 42 60 90 115 142 180 220
L10 10 12.5 19 28 36 42 42
C1¢ 46 70 100 130 165 215 235
C2¢ M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/<L12 <14/<L12? <19/ <L 24° <32 <38 <48 <55
C4* 25 34 40 50 60 85 116
C5¢ 30 50 80 110 130 180 200
C6* 815 8 4 5 6 6 6
C7¢ 42 60 90 115 142 190 220
C8* 29.5 19 17 19.5 225 29 63
C9*¢ 90.5 111.5 152.5 191.5 235.5 303.5 378.5
Cc10* 8.75 13.5 10.75 13 15 20.75 53
B1 ho 5 5 6 10 12 16 20
H1 15 18 24.5 85 43 59 79.5

1, AFR042 C3=12mmE optionalZ M=
3, AFR075 C3=24mmE optional2 A&, Tt L2 Z74(S1 condition) oAM= ALEA FO|E

4.C1~C102 HS2&{0ff wf2f CHELICH eAt 25

0

2. AFR060 C3=16mmE optionalZ X3

[ol=13
fTo

il
K| www apexdynakorea co kr2 4541 Design ToolS 0|&3510f X5 &folsh 4= Ql&L Ct

63



AFR Series B

L8

L2 _ 13
o oC7
¥ =
o v
= R
By | |
b ] A= =
DiNg32/2 =
5=
Shaft Option S1 | .2P3s Shaft Option S2
[unit:mm]
Dimension AFR042 AFR060 AFRO75 AFR100 AFR140 AFR180 AFR220
D1 50 68 85 120 165 215 250
D2 34 oI5 6.8 9 11 13 17
D3 13 16 22 32 40 55 75
D4 ¢ 35 60 70 90 130 160 180
D5 22 45 60 80 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
L1 42 62 76 105 142 180 220
L2 19.5 28.5 36 58 82 82 105
L3 6.5 20 20 30 30 30 33
L4 1 1.5 2 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5) 5 6 7
L7 4 6 7 10 12 15 20
L8 139 168.5 222.5 295.5 370.5 434 521
L9 42 60 90 115 142 180 220
L10 10 12.5 19 28 36 42 42
C1° 46 46 70 100 130 165 215
C2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
C3° <11/L12 <11/<L122 <14/ <19/ <L 24 <32 < 38 <48
< 15.875/< 16°
C4° 25 25 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 85 & 8 4 5 6 6
C7° 42 42 60 90 115 142 190
C8° 29.5 29.5 19 17 19.5 22.5 29
C9° 90.5 99.5 126.5 165 205 254.5 82885
Cc10° 8.75 8.75 13.5 10.75 13 15 20.75
B1ho 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5

1. AFR042 C3=12mmE optionalZ &2

2. AFR0B0 C3=12mm< optional2 M2

"ONI VZHOM SOINVYNAQ X3dY

(o2
H

3, AFR075 (C3=15875 & C3=162 optional 2 H|= 4 AFR100 C3=24mmE optionalZ X &, £t &2 Z74(S1 condition) Of|A{= A2 A F0|E 22
5, C1~C102 MZ2E{of w2t CHELICH SAH 2 0[] www apexdynakorea,co k2 F55H% Design ToolS 0[&3t0f A|+E 2olet 4+ lELICh



F,. Radial Load
F,. Axial Load

287| 5

215 20ICIY NI FHSIS

It can take heavy load from both axes.

—_—

,~ AF220 /| AFR220

Y
\ff AF100 / AFR100
d

,~ AF075 / AFR075
¢

-~ AF060 / AFR060
¢

AF042 /| AFR042

100,000
_ 60,000
z 40,000
-
2 20,000
)
T 4
§ G 10,000
c
=5 6000
© =
S 40005
Eo
5 = 2,000
gﬁ 1,000
—— w y
EO
o S
a O
200
10

20 40 60 100 200 400 600 1000 20

Output Speed n, [ rpm ]

00

Position Load Factor k,

AF060 / AFR060

AF075 / AFR075

AF100 / AFR100

AF220 / AFR220

40 80 120 160 200 240 280 320 360
Position X [ mm ]

Datac 2 2FA[IHOAINH OJLf AHHOI S

FHL M5O AUFES ANE YAES AEUD. O

AF042 /| AFR042

The permitted radial and axial loads on output shaft of the gearbox
depend on the design of the gearbox supporting bearings.
APEX use the extension straddle oversized ball bearing design.

Aol 5,0l BHE
Fael Topnct
X=1/2 x L °| gurt.

Tt

THo| IE
HZ o3FoIH
ZEEIM 22l

0
ro mx Jp

o

4> ohl JB i
30 fo = 4}

mat
m
L
-

it

HolHg °t5(F,)°l =4
BN ROiHHE usT
ggaelH st52 M
HiAoto] HAEUEL
SigaoIHY o5 AN
352 ANHRKl 2o
s M" I':t
MR E
g|0|gl\ MI:I
B Foe 1-I7‘I"r E3z2 WO

2 FE AN ZeEyH,

‘I°I’*I

|> rl° III
J

65

sales
ydv/4v




(=23
»

"ONI VZHOM SOINVYNAQ X3dY

S5 $1
HS 24 | o5 20
Cycle Operation Contlnuous Operation
YES ED<60%
work<20mins
| VT
UaH Y i (Fq2) BaH ¥ i(Eq2) |

A4 rE B3 HIM J

Tomax (EQ-
o 2 U447 NO Tomax<T2s NO H 2 &
MY '_W Q{ry_' MM
YES
¥
BEHET(n,,) & FHEE(My)E WM ) YES
(Eq.5)
= NO
A4y = h@ T Toy: Ny S 2 2 AILEOA 20!
YES
i
R OILABF (F,,,) & BRFNF(Fppn)2
W2t (Eq.6)

|
38 OIS (F,,) & ABENF(Fpp)2 J

o
Fop > Fap =

Ao b QAL HE O Al 2O

[}
‘ |

F2rm<F2rB N O,
anm<F2a

o]
riu
o
b
=
=
rz
o

YES
v
WA Koy #2 2ol ]
}
| H

uz |

UL
447

Recommended (for S5 Cycle Operation)
The general design is given for

J
i—;s4xJ,,,

The optimal design is given for
Jo o
i_zL =J,
J. Load Inertia
J. Motor Inertia

Motion Profile

T oo .
ml 2a
UH TZC o l'— STt T T 1
K sz 1 ! 1
I [ | 1
1 1 1
Taa——ry — !
1 1 1 1 1
1 1 1 1 1
KoF, -F | i 10 i
2ra 2aa """"."'l"""'l
'errC\anC_ """ !—"":"""':
kml F2rp ) FZap ; i l i
Fara Faad ' : '
1 1 1 1 1
1 1 1 1 1
1 1
u L Lo :
Kir
ar n
ajlfll 2a
S1 : QIS:Me E
— | CycleZ ESA|ZH0| 60%0| Al
— ZSA[Zto] 2022 =1t
— 5182 ZHEA|ZH0| 20A|Z+2 Eafetl
ottty o _
1. ED = mx 100%, t yore =t + 1o + 1y
Index : a. Acceleration, c. Constant, (Eq.1)
d. Deceleration, p. Pause
b= nm
2.i= Nyork
m Output Speed of the Motor (Eq.2)

Nyork Working Speed

3 3 3
NpaXtaXToy +Np Xt XToe +Ny0%t X Toy
3. T, =

NoaXtatNocXtetNygxty
(Eq.3)
4. T2max =Tran IS ksx n
where K is
K No. of Cycles / hr
1.0 0~1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000
2.0 5,000 ~ 9,000
2.05 9,000 ~ 10,000
not recommended above 10,000

Tne Max. Output Torque of the Motor

Eq.4
n Efficiency of the Gearbox (Eq4)
=S =
5. Ny = Npg =—5—% Ny,
no = _M2a*ta? Npe X totnyg  ty
2m ta i tc i td
— Ny (Eq.5)
Mon ==
3 3 3
nZaxtaszra +n20Xtch2rc +n2dxtdxF2rd
6. F2rm= 3 nzaxta+n20xtc+n2dxtd
3 3 3
nZaXtaxF2aa +n20xtch2ac +n2dxtdxF2ad
F2am= 3 nzaxta+n2cxtc+n2dxtd (Eq.6)



Ordering Code

Gearbox Size: Shaft Option:

And Model

AF100, AF140, AF180, AF220 S2: Output Shaft with Key

7777777777777777777777777777777777777777777777777777

Backlash:
PO: Micro Backlash
P1: Reduced Backlash
P2: Standard Backlash

1 Stage: 3,4,5,6,7,8,9, 10
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70,
80, 90, 100

| | ~ Motor Designation:
i AF042, AF060,AF060A, AF075, AFO75A 3 i i S1: Smooth Output Shaft i 3 i Manufacturer Type

77777777

Gearbox Size: ~ Shaft Option: i
AFR042, AFR060, AFR075 ~ S1:Smooth Output Shaft
AFR100,AFR140, AFR180,AFR220  S2: Output Shaft with Key And Model

Backlash:
PO: Micro Backlash
P1: Reduced Backlash
P2: Standard Backlash

* *
1Stage: 3,4,5,6,7,8,9, 10, 14, 20
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70,
* %

*k K*k k*k k%

80, 90, 100, 120, 140, 160, 180, 200

* AFRO420IM = 2EH 2522 15,208 2
** AFR042,AFR0600i = & E¢t&

Ordering Example: AFR075-010-S1-P1 / SIEMENS 1FT6 041-4AF71
o

-P
m SHOIXIS $2SIAIP! 212 AIYS SOIE 4 UALIC,

=i

Motor Designation:

i Manufacturer Type

77777777

67

sales
ydv/4v




"ONI VZHOM SOINVYNAQ X3dY

(=2
oo

AF/AFR Series

Characteristic Highlights

True Helical Gear Design

710{2t HE20| ATH7[0] Cht]
33%01Y =0t EIBHE U+ US.
0| A YIPELE HHHE WRDIA
& F=otn 288 2Hks

backlash (less than 1 arc-minutes and < 56dB)

Solid uncaged needle roller bearingsS Xg
Ut Z7iof| Z|chst ol LISHoRg XE
12 1E3 NASO| ARSI,

Tapered roller bearingS =&
2{0[C|/HAIY 5t5 2est
AF, AFR042 : CHEH|0E M2

HeliTopo technology2 ME5t =2 7|0{8s52 7IRL
7104 CrowningS Sall 7|0] XE&ignt QHHUS A[XStAIZ,
012215l 7|0{ EH HEES ristAl7 EIE2 S

SAL0ll Plasma nitridingZxiz2| &H|E XIHES

710f MEA=E 30 HRCZ RXIGHHA 7|0{EH B=S
900HVZIX| =04 LHDt=A 3 LIS &S SAl0l SCHAIZ
EESH X2 Hxj2| walol2t EXzlE HEo| So| He

One piece planet carrier with extended bearing design NEW - Patented output sealing system design
Z0|C|Y ofE 82 33t A7\ A|ARIS| M=} EHZ M} grete Holof TICN ZEIX2|E 610 oFnt 2EsS =0
Zds 3Suisk AlZL 29 2|3E WXlotn +HS SHSH, (E= : 3700Hv, == : Ra0.2um)



APEX DYNAMICS KOREA INC.

Patented planet carrier design
7101 HiEZS Sz AR HXINZSZM
710{2| 2HiES F0 =2 FULE &2

Triple split collet with dynamic balanced set collar
clamping system 2 tiaf4] Sraigl=
SHS Mol SEHNS ATs| MAE,

ESH100%2] SHE SEZ =2 BT M=
Ha s 2

NS HRER
Nyogel 792D(Smart Grease)2
AIE510d RU+RE WRlstn
SAES7L HokS

saues
y4v/4v

| L P
NEW - Patented input sealing
system design .
Q2| Qo sigte Hiol Series

TICN ZEIX2|E 24 Xgstoa
DRt S 2|ASI5I0 2Uz|3 S

(ﬁ—ms%?i e o AFRZZI2 ATIIO[ H|#7|0{2 X85 Angle TXZ 20|12
A AT Ra0. A ST o ZRE{O| = CHESt 4 Q= TZLMGIREIS AL,

69



